	PREU
	QUANTITAT DEMANDADA
	INGRÉS TOTAL
	INGRÉS MARGINAL
	COST TOTAL 
	COST MARGINAL
	BENEFICI
	∆ BENEFICI

	30
	0
	0
	-
	33
	-
	-33
	-

	29
	1
	29
	29
	38
	5
	-9
	24

	28
	2
	56
	27
	45
	7
	11
	20

	27
	3
	81
	25
	54
	9
	27
	16

	26
	4
	104
	23
	65
	11
	39
	12

	25
	5
	125
	21
	78
	13
	47
	8

	24
	6
	144
	19
	93
	15
	51
	4

	23
	7
	161
	17
	110
	17
	51
	0

	22
	8
	176
	15
	129
	19
	47
	-4

	21
	9
	189
	13
	150
	21
	39
	-8

	20
	10
	200
	11
	173
	23
	27
	-12

	19
	11
	209
	9
	198
	25
	11
	-16

	18
	12
	216
	7
	225
	27
	-9
	-20

	17
	13
	221
	5
	254
	29
	-33
	-24

	16
	14
	224
	3
	285
	31
	-61
	-28

	15
	15
	225
	1
	318
	33
	-93
	-32

	14
	16
	224
	-1
	353
	35
	-129
	-36

	13
	17
	221
	-3
	390
	37
	-169
	-40

	12
	18
	216
	-5
	429
	39
	-213
	-44
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